Use multiplication to solve each word problem.
Show the work for each problem. ( two digit )

1. Reena has 5 packets of pencils.
Each packet has 12 pencils.
How many pencils do Reena have?

2. A dog has four legs.
How many legs of fifteen dogs
have?

3. Abook contains 18 pages.
How many pages in all
will nine books have?

4. A carton has 14 frocks.
How many frocks would
7 cartons have?

5. A gift bag has 5 toys inside.
How many toys in all 16 bags
together?

Statement Work
Reena has packet
of pencils 1 2
Pencils in each
packet > 5
Total pencils 60
Statement Work
Statement Work
Statement Work
Statement Work



